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Prove: 
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1. 
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(given)
2. angle p congruent to angle 1; angle r cong. to angle 2 (2 par. Lines cbt, then corr. Angles cong)

3. angle p cong. angle r (transitive prop of congr.)
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	2.) Given: 
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Prove: 
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1. 
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 bisects 
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(given)
2. angle 1 cong. angle 2 (angle bis. Thrm.)
3. angle 1 cong. angle 3 (trans.)

4) seg. AD parallel seg. BC (2 lines cbt with alt. int. angles congr, then lines parallel)
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	3.) Given: a//b;  
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Prove:  c//d 

1. a//b;  
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(given)

2. angles 1,3 are suppl; angles 2,4 are suppl.(2 paral. Lines cbt, then same-side int. angles are suppl.)

3. angles 1 and 2 are congruent(2 angles suppl. to congr. angles are congr.)

4. m(1 + m(3 = 180 (def. suppl.)
5. m(2 + m(3 = 180 (subst. using steps 3,4)

6. angles 2,3 suppl.(def. suppl)
7. c parall. to d (2 lines cbt with same-side int. angles suppl, then lines parallel)
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ANSWERS (sorry for lack of symbols in solutions – done in the interest of time)

	4.) Given: 
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Prove: 
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1. 
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(given)

2. draw auxiliary seg. FG parallel to AB and CD through pt. E (there exists one-and-only-one line parallel to 2 lines through a pt. not on either line)
3. m(1=m(3; m(2=m(4(2 par. Lines cbt, alt. int. angles congruent)

4. m(AEC = m(3 + m(4 (( + post.)
5. m(AEC = m(1+m(2(subst. =)
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	5.) Given: 
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 bisects 
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Prove: 
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1. 
[image: image24.wmf]BD

 bisects 
[image: image25.wmf]CBA

Ð

; 
[image: image26.wmf]23

Ð@Ð

(given)
2. (1 ( (3(angle bis. Thrm)
3. (1( (2(trans. Prop. ( )

4. 
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EFBD

(2 lines cbt w/ corr. angles ( , then lines are parallel)
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Name ________________ Per ___

Proof Mania Continues!...

Write a two-column proof for each below
3
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